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1. Anastajia and Beowulf are using an EPR experiment to distribute a key. Anastajia ob-

serves:
A1B1BOAOCO BOA1BOB1C1 A1A0C1COBO C1B1AOAOA1 (1)

While Beowulf observes:
BOBOCOC1A1 B1COB1BOAO C1B1COBOCO A1BOA1COCO (2)

What key would Anastajia and Beowulf end up using? Was Yves listening in? How can
you tell?

2. Anastajia and Beowulf are using an EPR experiment to distribute a key. Anastajia ob-

serves:
B1C1COAOBO AOBOBOC1C1 B1AOA1COBO C1A0AO0BOAO (3)

While Beowulf observes:
BOBOCOC1A1 B1COB1BOAO COB1C1COB A1BOA1COCO (4)

What key would Anastajia and Beowulf end up using? Was Yves listening in? How can
you tell?



